
Drawer system



1. Drawer System Fitment - Tools, Fasteners & Materials

The tables below show the equipment, I.e tools, fasteners, hardware and

consumables required to complete the fitment of the Alu-Cab Drawer System.

Hardware supplied with the Drawer System Kit:

Parts

Drawer System 1

M8x40 Hex Head Bolt 4

M8 Nyloc Nut 4
M8 Flat Washer 8

Tools required to fit the Drawer System kit:

Tool Purpose
Drill Drilling Holes
8mm Drill Bit Drilling Holes

13 Spanner and/or Ratchet Fastening Bolts

Size 4 Allen Key Fastening Bolts



2. Fitting the Drawer System Kit Step 1:

Removing Drawer Tops

The first step in the installation of the Alu-Cab Drawer System is to remove the Drawer Tops

from the Drawers. We will need to do this to gain access to the mounting points for the

Drawers. The following images will illustrate the Drawer Top removal process:

Figure 1: Drawer System

Figure 2: Counter Sunk M6 Bolts that need to be removed using your Size 4 Allen Key



Figure 3: Once all the Bolts are removed you can remove the Drawer Top

Figure 4: Once all the Bolts are removed you can remove the Drawer Top



Figure 5: We then need to remove the Drawers to access the Frame



2.1 Centering Drawer with Load Bin

For our next step we need to put our Drawer System Fame onto the Vehicle Load Bin. The

crucial part here is to center and square up your Drawer System in the middle of your Load

Bin. The following images will illustrate this:

Figure 6: Drawer System Frame on Vehicle Load Bin

Figure 7: Squaring up and Centering the Drawer System with the Load Bin



Step 3: Drilling Load Bin and Fastening Drawers

Our next step in the installation process is to drill our mounting holes through the

Vehicle Load Bin, and fastening the Drawer System to the Load Bin. There are slots in

the Drawer System Frame used to fasten down the Drawer System. The following

images will show this:

Figure 8: Drawer System Frame Slots

Figure 9: Drawer System Frame Slots where we will drill through and place out Washer and

Bolts



Figure 10: Rear Slots. We Need to drill 8mm holes for our M8x40 Hex Head Bolts to go

through the Load Bin, to fasten from the bottom. Within the Slots, find a place that does not

interfere with any other Vehicle Components under the Load Bin, and is accessible for you to

fasten the Bolts. Drill through the outer most slots found on the Drawer System Frame as

shown

Figure 11: Once we have drilled the 4 holes we can place our Bolts with a Washer through the

Frame and holes



Figure 12: Bolt Positions

Figure 13: Front Bolt Positions



Figure 14: Rear Bolt Positions

Figure 15: Bolts fastened underneath Load Bin



These M6X16 bolts are supplied loose with the drawer system, please make sure they are

fitted to prevent side ways movement.

Outside
of box

There are 4 brackets
used to tension the
bearings to prevent
side way movement.

Inside of box

Simply adjust the M6 bolt to tension the
bearings on drawer system



Step 4: Re-install Drawer Tops and Drawers

The final step is to reverse Step 1 and re-install the Drawer Tops and Drawers.

Figure 16: Complete Drawer System Installed


	1.Drawer System Fitment - Tools, Fasteners & Materia
	The tables below show the equipment, I.e tools, fa

	2.1  Centering Drawer with Load Bin
	Step 3: Drilling Load Bin and Fastening Drawers
	Our next step in the installation process is to dr

	Step 4: Re-install Drawer Tops and Drawers
	The final step is to reverse Step 1 and re-install


